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O oHE=AL #if ZARARL 1 15, 7. 6(MEH EALYAL 14, 7. 11)
+2(%) DO(ne/ ¢ ) %= (%)

- = =4 e =4 e =4 dd
55 [R5 | E5 | N5 |55 | N3 | 5 | §5 | 55 | N5 | 55 | N5
3 ®© 38 | 21.4 2.1 | 235|217 | 82 | 7.2 | 8.0 | 5.7 | 34.4 | 345 | 383.5 | 33.6
o | @ SE [ 23.3|21.4] 253|228 7.8 6.3 | 7.4 | 2.0 | 34.4 | 34.5| 33.5 | 33.7
cj @ 8t [23.5 | 21.7 | 255 | 229 | 7.7 | 6.4 | 7.5 2.0 | 34.4 | 34.5 | 33.5 | 33.7
@ e (228 | 212 26.1 | 229 | 7.8 7.2 | 8.5 53 | 34.4 | 34.5 | 33.7 | 33.7
A® 28 | 22| 215 | 227 |21.5] 7.3 6.5 6.7 | 4.6 | 34.5 | 34.5 | 33.7 | 33.8
DE[ ® HIAL | 22,6 | 21.7 | 24.7 | 22.2 | 7.2 5.9 | 8.5 50 | 34.4 | 34.5 | 33.5 | 33.7
| 2 |26 |21.3|246 | 22377 |66 | 7.8 | 4.1 |34.4|345|33.6 | 33.7
@© gs [23.4|20.1]23.8]22.5] 9.3 7.7 | 8.2 5.7 |1 34.0 | 34.3 | 32.6 | 33.1
s [ 23.3 201|236 224 9.2 | 7.7 | 88 | 59 | 34.0 | 34.2 | 32.7 | 33.1
@ RF [21.8 | 175|241 212 87 | 25 | 8.8 | 4.4 | 34.0 | 346 | 32.7 | 33.3
P @ OHy | 22.2 | 18.7 | 24.9 | 20.9 | 8.6 | 4.1 9.6 3.2 | 34.0 | 34.5 | 32.4 | 33.3
- @ ®x | 22.2 | 187 | 249 | 20.8 | 8.4 | 3.5 9.7 | 3.2 | 34.0 | 34.4 | 32.4 | 33.3
of @oH(e) | 21.7 | 18.2 | 24.6 | 21.6 | 8.9 | 4.7 9.2 5.2 | 34.0 | 34.6 | 32.4 | 33.4
T GmEEQ) [ 21.8 | 18.2 | 24.7 | 21.5| 8.9 | 4.3 9.2 5.1 134.0 | 34.4 | 32.5 | 33.3
@&E<(Q) | 21.8 | 18.3 | 24.9 | 20.7 | 9.3 | 4.2 9.9 | 4.2 | 34.0 | 34.4 | 32.5 | 33.3
®3i=(eh) | 21.8 | 18.4 | 25.0 | 20.7 | 9.1 46 | 9.2 | 4.1 | 34.0 | 34.4 | 32.5 | 33.2
Ba |22 |187 245|214 89 | 48 | 9.2 | 45 [ 34.0 | 34.4 | 325 | 33.2
M &2 22.4 1200 | 246 | 21.8| 83 | 5.7 | 85 | 4.3 | 34.2 | 34.5 | 33.0 | 33.5
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